סימני התחלקות ב-5,2 ו-10 
דף עבודה 8 לכיתה ג' 

קבעו האם המספר הנתון מתחלק ב-2, 5 או 10

	מספר
	האם מתחלק ב-2, 5 או 10?

	5884
	

	4426
	

	5827
	

	3247
	

	2310
	

	9642
	

	4134
	

	6872
	

	7003
	

	6656
	

	3971
	

	5422
	

	1713
	

	2856
	

	5400
	

	4385
	

	2638
	

	5262
	

	3005
	

	3837
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פתרון

	מספר
	האם מתחלק ב-2, 5 או 10?

	5884
	2

	4426
	2

	5827
	לא מתחלק

	3247
	לא מתחלק

	2310
	10

	9642
	2

	4134
	2

	6872
	2

	7003
	לא מתחלק

	6656
	2

	3971
	לא מתחלק

	5422
	2

	1713
	לא מתחלק

	2856
	2

	5400
	10

	4385
	5

	2638
	2

	5262
	2

	3005
	5

	3837
	לא מתחלק



